
Calc 2 – Practice integrals

Sometimes the integrals in one row all use the same strategy. Other times, there are different strategies to use for
integrals in the same row. Some integrals can be solved multiple ways!

1.

∫
sin−1 x dx

∫
1√

1− x2
dx

∫
sin−1 x√

1− x2
dx

∫
x√

1− x2
dx

2.

∫
tan−1 x dx

∫
1

1 + x2
dx

∫
tan−1 x

1 + x2
dx

∫
x

1 + x2
dx

3.

∫
lnx dx

∫
x lnx dx

∫
x2 lnx dx

∫
x3 lnx dx

∫
x4 lnx dx

4.

∫
1

x2 + 1
dx

∫
1

x2 + 9
dx

∫
1

x2 − 9
dx

∫
x

x2 + 5
dx

∫
x2

x2 + 5
dx

∫
x3

x2 + 5
dx

5.

∫ √
4− x2 dx

∫ √
4− 4x2 dx

∫ √
1− 4x2 dx

∫ √
1− 5x2 dx

∫ √
4− x2 dx

∫ √
4− 5x2 dx

6.

∫
x7

√
25 + x2

dx

∫
x7

√
25 + 4x2

dx

∫
x7

√
25 + 3x2

dx

∫
x7

√
11 + 3x2

dx

∫
x7 + x√
25 + x2

dx

7.

∫
ex cosx dx

∫
ex sinx dx

∫
2x cosx dx

∫
2x sinx dx

∫
2x cos(3x) dx

∫
2x sin 3x dx

8.

∫
1

x2 + 2x + 1
dx

∫
1

x2 + 2x + 2
dx

∫
1

x2 + 2x + 3
dx

∫
1

x2 + 2x− 3
dx

∫
1

x2 + 2x− 24
dx∫

1

x2 + 2x− 25
dx

9.

∫
sinx cosx dx

∫
sin3 x cosx dx

∫
sin11 x cosx dx

∫
sin3 x cos33 x dx

∫
sin2 x cos5 x dx

10.

∫
2 sinx cosx dx

∫
sin 3x cos 5x dx

∫
sin 3x sin 5x dx

∫
cos 3x cos 5x dx

11.

∫
sinx dx

∫
cosx dx

∫
tanx dx

∫
secx dx

∫
cscx dx

∫
cotx dx

12.

∫
sin2 x dx

∫
cos2 x dx

∫
tan2 x dx

∫
sec2 x dx

∫
csc2 x dx

∫
cot2 x dx

13.

∫
sin4 x dx

∫
cos4 x dx

∫
tan3 x dx

∫
sec3 x dx

14.

∫
3

x2 − 1
dx

∫
x + 3

x2 − 1
dx

∫
x + 1

x2 − 1
dx

∫
x2 + 3x + 11

x2 − 1
dx

∫
x3 + 1

x2 − 1
dx

15.

∫
x cosx dx

∫
x cos2 x dx

∫
x cos(5x) dx

∫
x2 sinx dx

∫
x2 sin(5x) dx

∫
x4 sin(x5) dx

16.

∫
tan6 x sec4 x dx

∫
tan5 x sec4 x dx

∫
tan5 x sec3 x dx

17.

∫
(sinx + 6)2 dx

∫
(sinx + cosx)2 dx

∫
sin2 x cos2 x dx

18.

∫ √
x2 − 25

x
dx

∫ √
25x2 − 25

x
dx

∫ √
49x2 − 25

x
dx

∫ √
x2 − 11

x
dx

∫ √
11x2 − 2

x
dx


